





®

VOLVO

ENGINE MOUNTING / MOTOR TAKOZU

. Aciklama
Arag / Vehicle Ref. NR Description
20499469
21228153 h: 133,5
20723224
20499470 h: 129
20499472 h:133,5
21228154 h: 129
FH 12
FH 16 1629614 ARKA/REAR

AO. 90419

Brands and numbers were written for only reference.

104



®

AO. 90423

105

ENGINE MOUNTING / MOTOR TAKOZU

Aciklama
Description

ARKA/REAR

ARKA/REAR

ARKA/REAR

M8X1.25
SOL/LEFT

ON/FRONT

Brands and numbers were written for only reference.

Ref. NR

70301773

1622148

20501393

20503553
20503552
1626870

Arag / Vehicle

BUS
B12
FH12
FH16

FH 12
FH 16

FH 12
FH 16

FL SERIES

FH 12
FH 16
FM 10




®

VOLVO

ENGINE MOUNTING / MOTOR TAKOZU

Arag / Vehicle

FH12
FH16
FM10
NH12
FM12

FH12
F 16

FM']O

FM7
FM9
FH12
FH16
FM12

F7, F10, F12
F16, N10, N12
Fh16, FL6, FL7

FL10, FM9, FM12

BOM, B10M

Ref. NR

20503551
1622825

20503550

20390840

1629553
8151413
20390836

Aciklama
Description

ON/FRONT

ON/FRONT

Brands and numbers were written for only reference.

AO. 90426

AO. 90415

106



VOLVO ®

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Aciklama :
Description Ref. NR Arag / Vehicle
D: @ 67 NL232,SG220

SG242, SL200

e 4 @17
€ ) AX: 100 275988 SL202, SR240

N
—— H: 24 SR280R

AO. 90427
D: @ 75 F10, F12
d: @17 FM12, FH12
\ AX: 115 27187 Fh16, FL10
H: 24 FL12
D: @ 75 FH12
d: @17 3093462 FH16
AX: 115 85104224 FM7
H: 24 FM9
FH12
D: @75 AN
d: @17 3093467 EM12
AX: 130 9253029 Be
H: 24
: B7
B12

AO.90435

1 SEGMAN 2.5 mm
1 SEGMAN 3 mm

— D: @75 20740700 B6

( _ ) ) d: @17 24426001 B9
Q. ) < AX: 130
H: 24

AO.90433
107

Brands and numbers were written for only reference.



® VOLVO

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Arag / Vehicle Ref. NR Dﬁg::krli?)rt?gn -
D: @ 75
FH12 20547286 %(_@112
H: 24
AO. 90429
D: @75
Fi2 d: @ 21 )
FL10 274070 X 130 -—
FL12 Ay C ) )
AO. 90430
FH
FH12 _
0 o5
FM 20702096 -
AX: 130
FM9 AX: 130
FM12 -
NH12
A0.90437
F10, F12, F16 0273373 D: & 85
CHin B 0274019 4 @ 21 .
e 0691709 AX: 130 "") \
4941233 H: 30 wi
AO. 90417
F12, F16 5}33?
FL10, FL12 274068 S ren —
FL7 H: 24 < —3 )

AO. 90418

108

Brands and numbers were written for only reference.




VOLVO

®

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Aciklama
Description Ref. NR

D: @ 95
d: @ 21
AX: 130
H: 35

20702095

oV

D: @ 95

d: @ 23 274056

- AX: 152 276192
) H: 35

AO. 90432

109

Arag / Vehicle

FH
FH12
FH16
FM
FM9
FM12
NH12

FH12
FH16
FL10
FL12

Brands and numbers were written for only reference.



®

VOLVO

SAFT ASKI TAKIMLARI

SHAFT CENTER SUPPORT BEARING

Arag / Vehicle Ref. NR

3952036
3953472

1070171
1697203
20362601
20845657

NK 300

20471422

1068208
20471422

6648769

Brands and numbers were written for only reference.

Aciklama
Description

@:40 HC:168

W:18 H:65

@:45 HC:194

W:19 H:715

@:55 HC:193,6

W:18 H:72

@:55 HC:200

W:18 H:72

@:55 HC:168

W:18 H:67

AB. 20914

AB. 20910

AB. 20909

AB. 20912

AB. 20913

110




®

AB. 20905

AB. 20915

AB. 90408

AB. 90409

111

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING
Deceviatian Ref. NR Arag / Vehicle
: . 1696389 F6, F7, F10, N7
AR 6212888 N10, N12, F12
J:60 HC:193
W:18 H: 69 20362600
TUBE TYPE / BORULU TiP
@:60 HC:220
21026452

W:36 H:86

@:60 HC:160

WITHOUT BEARING
RULMANSIZ

@:70 HC:160

WITHOUT BEARING
RULMANSIZ

Brands and numbers were written for only reference.




®

VOLVO

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING
Arag / Vehicle Ref. NR Deceviatian
FL17, FL10, F10, F12 263567
FH12, F16, FH16 16229553 @:70 W:20
N10, N12 8171366
VOLVO FH 1081150 @:70 HC:220
VOLVO FM 21082652
2012-2015 W:26 H:85
20471428 g:70 HC : 220
1068222 W:20 H:86
F86, F87, G88
F89. N86, F12 337321 @90
N88, N7, B57, B58
HC : 199

1651230
263006

Brands and numbers were written for only reference.

CLAMP / U DEMIRI

AB. 20906

AB.20917

AB. 20907

AB. 20908

AO. 20407

112




VOLVO

®

DIAPHRAGMS / DIYAFRAMLAR
Fig. 1 Fig. 2 Fig. 3 Fig. 4 Fig. 5
D a
0 i
pl:zZUDNulégng/E URUN ismi / PRODUCT NAME :IZKL'J;{E AP /;A:ETER DERINL";/ DEPTH
AA.10611 T.9 DIYAFRAM Fig.1 129 25
AA.10610 T.12 DIYAFRAM Fig.1 140 28
AA.10614 T.14 DIYAFRAM Fig.1 145 30
AA.10608 T.16 DIYAFRAM Fig.1 159 32
AA.10606 T.20 DiYAFRAM Fig.1 168 32
AA.10604 T.24 DiYAFRAM Fig.1 179 32
AA.10613 T.27 DIYAFRAM Fig.1 201 34
AA.10603 T.30 DIYAFRAM Fig.1 201 32
AA.10619 T.30 M DiYAFRAM Fig.1 201 36
AA.10601 T.36 DIYAFRAM Fig.1 224 42
AA.10617 T.9 LS DERIN DiYAFRAM Fig.2 129 32
AA.10616 T.12 LS DERIN DIYAFRAM Fig.2 140 34
AA.10612 T.14 LS DERIN DiYAFRAM Fig.2 145 36
AA.10609 T.16 LS DERIN DIYAFRAM Fig.2 159 44
AA.10607 T.20 LS DERIN DIYAFRAM Fig.2 168 44
AA.10605 T.24 LS DERIN DIYAFRAM Fig.2 179 44
AA.10615 T.27 LS DERIN DiYAFRAM Fig.2 201 44
AA.10602 T.30 LS DERIN DiYAFRAM Fig.2 201 44
AA.10620 T.36 LS DERIN DIYAFRAM Fig.2 224 44
AA.10623 T.24 MEMELI DIYAFRAM Fig.3 179 32
AA.10622 T.30 MEMELI DiYAFRAM Fig.3 201 32
AA.10621 T.30 LS DERIN MEMELI DiIYAFRAM Fig.3 201 47
AA.10624 T.12/16 DIYAFRAM Fig.4 159 33
AA.10625 T.14/16 DIYAFRAM Fig.4 159 33
AA.10627 T.16 S TiPi DIYAFRAM Fig.5 159 27
AA.10626 T.20 S TiPi DIYAFRAM Fig.5 170 25
AA.10628 T.24 S TiPi DIYAFRAM Fig.5 179 25

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.




®

Aracg / Vehicle O.E.M. NR
3177338
FL-FL180 20742389
FL-FL220
FL-FL250
21403468
21403469

Ref. NR Type

423 506 0700 24

STROKE
65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

423 506 1300
423 506 1310 24

STROKE
65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

423 506 1040 24

423 506 0630
STROKE
65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

423 506 1030 24

423 506 0620
STROKE
65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BS0024 20023

113




VOLVO

®

BS0024 20026

BS0020 10020

114

Type Ref. NR

423 506 0810

24

STROKE
65

M16X1.5

Disk Boyu / Disc Lenght

15 mm

24 423 506 1000

STROKE
65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

423 506 1020
423 506 0640

24

STROKE
65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

20 423 105 9000

STROKE
75

M16X1.5
Mil Boyu / Rod Lenght

186 mm

O.E.M. NR

20361838

20410138

20708819

526031200000
WA4231059000

Arac / Vehicle

FL6-FL608
FL6-FL610
FL6-FL611
FL6-FL612

FH-400
FH-420
FH-440
FH-460
FH-480

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.




®

VOLVO

Arac / Vehicle O.E.M. NR Ref. NR Type

6212188 423 106 9000 24

WA4231069000
STROKE
75

M16X1.5

Mil Boyu / Rod Lenght

186 mm

FH-400 3985253 423109 0100 27
FH-420 423 109 0130

FH-440 STROKE
FH-460 65

M16X1.5
Mil Boyu / Rod Lenght

247 mm

20927147 423 107 0100 30

STROKE
65

M16X1.5
Mil Boyu / Rod Lenght
58 mm

WA4231079000 423 107 9000 30

STROKE
75

M16X1.5
Mil Boyu / Rod Lenght

186 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BS0027 10030

BS0030 10037

115




VOLVO

®

Type Ref. NR

30
STROKE
75

M16X1.5
Mil Boyu / Rod Lenght

165 mm

BS0030 10040

9 423 142 0010

STROKE
44,5

M16X1.5

Boru Boyu / Tube Lenght

138 mm

BS0009 30001

925 460 0270

20/24

D/P
STROKE
57157
M16X1.5
Disk Boyu / Disc Lenght
15 mm

925 460 1010

20/24

D/P
STROKE
65/65
M16X1.5
Disk Boyu / Disc Lenght
15 mm

BP2024 20428

O.E.M. NR Aracg / Vehicle

1081461

6873710

20361844 FL6-FL608
FL6-FL610
FL6-FL611
FL6-FL612
FL6-FL619

WA9254601010

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

116

Brands and numbers were written for only reference.




®

VOLVO

Arac / Vehicle

FH12 3987614
8113459

85000253

85000466

20466070

20721845

FH12 20522028
21596227

20466071

20466072

O.E.M. NR

Ref. NR Type

925 481 0327

925 481 0320 24/24

925 461 1010 D/P
STROKE
65/65
M16X1.5
Disk Boyu / Disc Lenght
15 mm

925 481 0040

925 481 0500 24/24

925 481 3600 D/I)
925 481 3620
STROKE
65/65
M16X1.5

Disk Boyu / Disc Lenght
15 mm

925 461 1020

24/24

D/P
STROKE
65/65
M16X1.5
Disk Boyu / Disc Lenght
15 mm

925 461 1030

24/24

D/P
STROKE
65/65
M16X1.5
Disk Boyu / Disc Lenght
15 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BP2424 20444

117




VOLVO ®

Type Ref. NR O.E.M. NR Arac / Vehicle

24 /24 925 481 1160 20742392

D/P
STROKE
65/65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

24/24 925 481 2600 21115362

D/P
STROKE
75/75
M22X1.5

Disk Boyu / Disc Lenght
20 mm

24/30 925 461 4710 3177336

D/P
STROKE
65/65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

925481 0700 20721842 FH-400
24/ 3 0 925 461 4720 3197931 FH-420

D/P 20410136 E:_ggg
STROKE FH-16

65/65
M16X1.5

Disk Boyu / Disc Lenght
15 mm

BP2430 20455

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY
118

Brands and numbers were written for only reference.




®

VOLVO

Aracg / Vehicle O.E.M. NR

3177337

20742390

20742391

20524515

Ref. NR Type

925 461 4700

24/30

D/P
STROKE
65/65

M16X1.5
Disk Boyu / Disc Lenght
15 mm

925481 1210
925 481 1220

24/30

D/P
STROKE
65/65
M16X1.5

Disk Boyu / Disc Lenght
15 mm

925 481 1230
925 481 1200

24/30

D/P
STROKE
65/65
M16X1.5
Disk Boyu / Disc Lenght
15 mm

925 489 1000

27130

D/P
STROKE
65/65
M16X1.5

Disk Boyu / Disc Lenght
15 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BP2430 20458

BP2730 20461

119




®

BP3024 10430

120

Type Ref. NR

925 489 1010

27130

D/P
STROKE
65/65

M16X1.5

Disk Boyu / Disc Lenght
15 mm

925 431 0950
925 431 0957

24/24

D/P
STROKE
65/65
M16X1.5

Mil Boyu / Rod Lenght

247 mm

925 439 1100

27124

D/P
STROKE
65/65
M16X1.5

Mil Boyu / Rod Lenght

220 mm

925492 1010
925492 1017

30/24

D/P
STROKE
65/65
M16X1.5

Mil Boyu / Rod Lenght

250 mm

O.E.M. NR

20512225

1606835
1606836
1606887
1609803
1626182
1626183
1626184
1626185
1626445
1626446
1629514
1629515
3963094
3963095

5003225
5003226
5003484
5003485
8112624
8112625
8113112
8113540
8113541
8113558
8154233
8154234
85000582

20466200
85009002
20533210

ESBCU2599

Arac / Vehicle

FH12-FH16

FH-400

FH-420

FH-440
FH-12

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.




®

VOLVO

Arac / Vehicle

FH12-FH16
FM7-FM10

FM12-FH16
FL7-FL10

FH-400

FH-420

FH-440
FH-12

O.E.M. NR

1608734
1608733
5009229
1626189

1608732
1608733
1608734
1626187
1626188
1626189
1629512

1629513
5003228
5003229
5003230
8112621
8112622
8112623

20438488
20533202
85000577

8112623
3987108
20533204
85000579

Ref. NR

925 491 1430
925 491 1437

925 431 5140
925 431 5147

925 491 1350
925 491 1357
925 491 1300

925 491 1320
925 491 1327

Type

24/30

D/P

STROKE

65/65

M22X1.5
Adaptor
M16X1,5

Mil Boyu / Rod Lenght

250 mm

24/30

D/P
STROKE
65/65

M16X1.5

Mil Boyu / Rod Lenght

247 mm

24/30

D/P
STROKE
65/65

M16X1.5
Mil Boyu / Rod Lenght
58 mm

24/30

D/P
STROKE
65/65
M16X1.5

Mil Boyu / Rod Lenght

220 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BP2430 10437

BP2430 10438

121




VOLVO

®

Type Ref. NR

925 492 1030
925 492 1037

30/30

D/P

STROKE

65/65

M22X1.5
Adaptor
M16X1,5

Mil Boyu / Rod Lenght

250 mm

24/30 9253761060
D/D

STROKE
7575

M16X1.5

Mil Boyu / Rod Lenght

210 mm

925 372 2000
925 372 3000
925 377 0000
925 377 1000

30/30

D/D
STROKE
75/75
M16X1.5

Mil Boyu / Rod Lenght

215 mm

BD3030 10227

O.E.M. NR

5003224
1608006
1606834
1193099
1190406
5002292
WA9254921037
1197020
1588610

WA9253761060

WA9253771000

Arac / Vehicle

FM12-FL7
FL10

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

122

Brands and numbers were written for only reference.




